SOVRUM

TRYGGHETEN
GLADAN 9
LGH 301/1201
55,9 m?

Skala 1:100



T
.

ENERECE

KOK

1l VARDAGSRUM

SOVRUM

TRYGGHETEN
GLADAN 9
LGH 302/1202
67,3 m?

Skala 1:100



VARDAGSRUM

NEEE

SOVRUM

TRYGGHETEN
GLADAN 9
LGH 303/1203
55,6 m?

Skala 1:100



ALLRUM

SOVRUM

TRYGGHETEN
GLADAN 9
LGH 304/1204
55,9 m?

Skala 1:100



Z ]

ALLRUM

TRYGGHETEN
GLADAN 9
LGH 305/1205
42.4 m?

Skala 1:100



\

LGH_306/1206
58,8 m?

VARDAGSRUM

|
__ KLK SOVRUM
ila

i GLADAN 9
LGH 306/1206
58,8 m?

Skala 1:100

TRYGGHETEN




SOVRUM

ST

T4

KOK

ALLRUM

=

TRYGGHETEN
GLADAN 9
LGH 307/1207
70,9 m?

Skala 1:100



B/

|sT

1 |lc

K/ P

N ——— . ——

KOK

ALLRUM

= J__

TRYGGHETEN
GLADAN 9
LGH 308/1208
53,0 m?2

Skala 1:100



Il

ST

|

===

GEIEN

Kok |d]l
[e=]
{

ALLRUM

1IN

TRYGGHETEN
GLADAN 9
LGH 309/1209
54,0 m?

Skala 1:100



ALLRUM

{
Kbk W |
A T
TRYGGHETEN
GLADAN 9
LGH 310/1210
46,6 m?

Skala 1:100



ALLRUM

TRYGGHETEN
GLADAN 9
LGH 311/1211
46,0 m?

Skala 1:100



ALLRUM

TRYGGHETEN
GLADAN 9
LGH 312/1212
46,0 m?

Skala 1:100



o

ALLRUM

N\WHagp!

TRYGGHETEN
GLADAN 9
LGH 313/1213
46,6 m?

Skala 1:100



ALLRUM

TRYGGHETEN
GLADAN 9

LGH 314/1214

33.9 M4 .30 = 3b.2m?
Skala 1:100



